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Berechne die restlichen Winkel und Seiten. (Mache immer 
eine Planskizze.)
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Berechnungen am rechtwinkligen Dreieck
Übungen

sin (Winkel) = Gegenkathete
Hypotenuse

cos(Winkel) = Ankathete
Hypotenuse

tan (Winkel) = Gegenkathete
Ankathete
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geg.:
1

a = 4cm4c
3

β = 23°
1

γ = 90°###

ges.:
2

b = 1,7cm
3

c = 4,35cm4,
3

α = 67°

geg.:
2

b = 5cm5c
1

γ = 58°
3

α = 90°###

ges.:
3

c = 8cm
1

a = 9,44cm9,
3

β = 32°

Berechne die restlichen Winkel und Seiten. (Mache immer 
eine Planskizze.)
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Berechnungen am rechtwinkligen Dreieck
Lösungen

sin (Winkel) = Gegenkathete
Hypotenuse

cos(Winkel) = Ankathete
Hypotenuse

tan (Winkel) = Gegenkathete
Ankathete
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